TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR # 3		VENDOR # 4			
	2015-015-6469 Annual Contract for Inmate Clothing			Acme Supply Co. LTD		Bob Barker Company, Inc.		ICS Jail Supplies, Inc.		Uniforms Manufacturing, Inc	.	
				10 Cedar Swamp Rd.		134 N. Main St.		PO Box 21056		PO Box 12716		
	Opening Date: January 12, 2015			Glen Cove, NY 11542 Zaheer Sheik		Fuquay Varina, NC 27526 Nenna Mann		Waco, Texas 76702 JM Bogan III		Scottsdale, AZ 85267		
	Initial Contract Period: February 28, 2015 thru February 2' with (3) one year extension options	7, 2016		bn@acmesupply.us		nennamann@bobbarker.com	1	bids@icswaco.com		Jacq Stamps jacq@umidirect.com		
	Buyer Debra Morris 214-653-7933			800-567-8025 800-567-8026 fax		800-334-9880 800-322-7537 fax			800-524-5427 254-751-0299 fax		480-368-9316 480-368-8556 fax	
	Recommended for award									Section 1, 2 & 3		
	NCTRCA Certified Vendor			No		No		No		No		
	Certified by other Agency			Yes - State of NY - County of Affairs MBE- 10-2066 expire		No		No		No		
	EE0-1 Form Completed			Yes	es 11-1-1 <i>3</i>	Yes		Yes		Yes		
	Dallas County Taxpayer?			No		No		No		No		
	Please indicate whether the principal place of business or headquarter is physically located within Dallas County:	•										
	How were you notified?			Email		Letter from DC		Email from DC		Letter from DC		
	Addendum(s) Returned (if appplicable)			N/A		N/A		N/A		N/A		
	Samples			Yes		Yes		Yes		Yes		
	References			Yes		Yes		Yes		Yes		
	DESCRIPTION:	Estimated Quantity	Unit of Measure	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
1	Striped Inmate Clothing (Sheriff's Department)											
	Male Cut - Inmate Orange & White or Black & Wh stenciling, as per bid specifications	ite Striped Sh	nirts including									
	Size: Small	1,200	each	\$5.50	\$6,600.00	* \$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00	
	Size: Medium	1,200	each	\$5.50	\$6,600.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00	
	Size: Large	1,800	each	\$5.50	\$9,900.00	\$5.48	\$9,864.00	\$5.94	\$10,692.00	\$4.64	\$8,352.00	
	Size: X-Large	7,200	each	\$5.50	\$39,600.00	\$5.48	\$39,456.00	\$5.94	\$42,768.00	\$4.64	\$33,408.00	
	Size: 2X-Large	7,200	each	\$5.50	\$39,600.00	\$5.48	\$39,456.00	\$5.94	\$42,768.00	\$4.64	\$33,408.00	
	Size: 3X-Large	7,200	each	\$5.50	\$39,600.00	\$5.48	\$39,456.00	\$5.94	\$42,768.00	\$4.79	\$34,488.00	
	Size: 4X-Large	7,200	each	\$5.50	\$39,600.00	\$5.48	\$39,456.00	\$6.51	\$46,872.00	\$4.79	\$34,488.00	
	Size: 5X-Large	1,800	each	\$5.50	\$9,900.00	* \$5.48	\$9,864.00	\$7.09	\$12,762.00	\$4.99	\$8,982.00	
	Size: 6X-Large	1,800	each	\$5.50	\$9,900.00	* \$5.48	\$9,864.00	\$7.09	\$12,762.00	\$4.99	\$8,982.00	
	Size: 7X-Large	100	each	\$5.50	\$550.00	* \$6.80	\$680.00	\$7.67	\$767.00	\$6.00	\$600.00	
	Size: 8X-Large	100	each	\$5.50	\$550.00	* \$6.80	\$680.00	\$7.67	\$767.00	\$6.00	\$600.00	
	Size: 9X-Large	1,200	each	\$5.50	\$6,600.00	* \$6.97	\$8,364.00	\$8.25	\$9,900.00	\$6.50	\$7,800.00	
	Size: 10X-Large	100	each	\$5.50	\$550.00	* \$6.97	\$697.00 vendor extension \$8,364.00	\$8.25	\$825.00	\$6.50	\$650.00	
						* must purchase in increments of 6 each	venuoi extension 35,304.00					
	Specify Manufacturer, Brand and Product Number Being Proposed			Acme # SPKAA		BBC# TOWS (Orange/White) TBWS (Black & White)		ICS-CS005		UMI-52-3		
	TOTAL				\$209,550.00		\$210,989.00		\$237,907.00		\$182,894.00	
2	1.2 Male Cut - Inmate Orange & White or Black &	White Stripe	d Pants (no									
	stenciling required), as per bid specifications											
						Page 1 of 6						

			İ	1			1		ı	
TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR # 3		VENDOR # 4	
2015-015-6469 Annual Contract for Inmate Clothing			Acme Supply Co. LTD 10 Cedar Swamp Rd.		Bob Barker Company, Inc. 134 N. Main St.		ICS Jail Supplies, Inc. PO Box 21056		Uniforms Manufacturing, Inc. PO Box 12716	
Opening Date: January 12, 2015			Glen Cove, NY 11542		Fuquay Varina, NC 27526		Waco, Texas 76702		Scottsdale, AZ 85267	
			Zaheer Sheik		Nenna Mann		JM Bogan III		Jacq Stamps	
Initial Contract Period: February 28, 2015 thru February 27, 2016 with (3) one year extension options			bn@acmesupply.us		nennamann@bobbarker.com	ı	bids@icswaco.com		jacq@umidirect.com	
Buyer Debra Morris 214-653-7933			800-567-8025 800-567-8026 fax		800-334-9880 800-322-7537 fax		800-524-5427 254-751-0299 fax		480-368-9316 480-368-8556 fax	
Size: Small	1,200	each	\$5.50	\$6,600.00	\$6.28	\$7,536.00	\$5.61	\$6,732.00	\$5.49	\$6,588.00
Size: Medium	1,200	each	\$5.50	\$6,600.00	\$6.28	\$7,536.00	\$5.61	\$6,732.00	\$5.49	\$6,588.00
Size: Large	1,800	each	\$5.50	\$9,900.00	\$6.28	\$11,304.00	\$5.61	\$10,098.00	\$5.49	\$9,882.00
Size: X-Large	7,200	each	\$5.50	\$39,600.00	\$6.28	\$45,216.00	\$5.61	\$40,392.00	\$5.49	\$39,528.00
Size: 2X-Large	7,200	each	\$5.50	\$39,600.00	\$6.28	\$45,216.00	\$5.61	\$40,392.00	\$5.49	\$39,528.00
Size: 3X-Large	7,200	each	\$5.50	\$39,600.00	\$6.28	\$45,216.00	\$5.61	\$40,392.00	\$5.79	\$41,688.00
Size: 4X-Large	7,200	each	\$5.50	\$39,600.00	\$6.28	\$45,216.00	\$6.20	\$44,640.00	\$5.79	\$41,688.00
Size: 5X-Large	1,800	each	\$5.50	\$9,900.00	\$ \$6.28	\$11,304.00	\$6.20	\$11,160.00	\$6.10	\$10,980.00
Size: 6X-Large	1,800	each	\$5.50	\$9,900.00	\$ \$6.28	\$11,304.00	\$6.77	\$12,186.00	\$6.10	\$10,980.00
						vendor extension \$14,346.00				
Size: 7X-Large	100	each	\$5.50	\$550.00	\$8.75	\$875.00	\$7.35	\$735.00	\$6.35	\$635.00
Size: 8X-Large	100	each	\$5.50	\$550.00	\$8.75	\$875.00	\$7.43	\$743.00	\$6.35	\$635.00
Size: 9X-Large	1,200	each	\$5.50	\$6,600.00	* \$8.75	\$10,500.00	\$8.06	\$9,672.00	\$7.50	\$9,000.00
Size: 10X-Large	100	each	\$5.50	\$550.00	\$8.75	\$875.00	\$8.11	\$811.00	\$7.50	\$750.00
					* must purchase in increments of 6 each					
Specify Manufacturer, Brand and Product Number			Acme # 79200		BBC# TOWT (Orange/White) TBWT (Black & White)		ICS-CP005		UMI-#64-10	
Being Proposed TOTAL				\$209,550.00		\$242,973.00		\$224,685.00		\$218,470.00
Female Cut - Inmate Shirts- Kelly Green & White of including stenciling, as per bid specifications	or Black & V	White Striped								
Size: Small	1,200	each	\$5.95	\$7,140.00	* \$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00
Size: Medium	1,200	each	\$5.95	\$7,140.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00
Size: Large	1,200	each	\$5.95	\$7,140.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00
Size: X-Large	1,200	each	\$5.95	\$7,140.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00
Size: 2X-Large	1,200	each	\$5.95	\$7,140.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.64	\$5,568.00
Size: 3X-Large	1,200	each	\$5.95	\$7,140.00	\$5.48	\$6,576.00	\$5.94	\$7,128.00	\$4.79	\$5,748.00
Size: 4X-Large	600	each	\$5.95	\$3,570.00	\$5.48	\$3,288.00	\$6.51	\$3,906.00	\$4.79	\$2,874.00
Size: 5X-Large	600	each	\$5.95	\$3,570.00		\$3,288.00	\$7.09	\$4,254.00	\$4.99	\$2,994.00
Size: 6X-Large	600	each	\$5.95	\$3,570.00	* \$5.48	\$3,288.00	\$7.09	\$4,254.00	\$4.99	\$2,994.00
Size: 7X-Large	100	each	\$5.95	\$595.00	* \$6.80	\$680.00	\$7.67	\$767.00	\$6.00	\$600.00
Size: 8X-Large	100	each	\$5.95	\$595.00	* \$6.80	\$680.00	\$7.67	\$767.00	\$6.00	\$600.00
Size: 9X-Large	600	each	\$5.95	\$3,570.00	* \$6.97	\$4,182.00	\$8.25	\$4,950.00	\$6.50	\$3,900.00
Size: 10X-Large	100	each	\$5.95	\$595.00	* \$6.97	\$697.00	\$8.25	\$825.00	\$6.50	\$650.00
5.1.0.1 5.1. Earlige					* must purchase in increments of 6 each					
Specify Manufacturer, Brand and Product Number Being Proposed			Acme # 83FAA		** We are bidding Unisex Cut BB /White) TBWS (Black & White)	3C# TGWS (Green	ICS-CS005		UMI-#53-3	
TOTAL				\$58,905.00		\$55,559.00		\$62,491.00		\$48,200.00
4 Female Cut Pants - Inmate Kelly Green & White or Black & White Striped (no stenciling required), as per bid specifications										
-			1	I	Page 2 of 6		1		I	

TABULATION SHEET			VENDOR #1		VENDOR #2		VENDOR # 3		VENDOR # 4		
	2015-015-6469 Annual Contract for Inmate Clothing			Acme Supply Co. LTD		Bob Barker Company, Inc.		ICS Jail Supplies, Inc.		Uniforms Manufacturing, Inc.	
				10 Cedar Swamp Rd.		134 N. Main St.		PO Box 21056		PO Box 12716	
	Opening Date: January 12, 2015			Glen Cove, NY 11542		Fuquay Varina, NC 27526		Waco, Texas 76702		Scottsdale, AZ 85267	
	Litial Control David Falance, 20 2015 the Erlands, 20	7 2016		Zaheer Sheik		Nenna Mann		JM Bogan III		Jacq Stamps	
	Initial Contract Period: February 28, 2015 thru February 2' with (3) one year extension options	7, 2010		bn@acmesupply.us		nennamann@bobbarker.com		bids@icswaco.com		jacq@umidirect.com	
	Buyer Debra Morris 214-653-7933			800-567-8025 800-567-8026 fax		800-334-9880 800-322-7537 fax		800-524-5427 254-751-0299 fax		480-368-9316 480-368-8556 fax	
	Size: Small	1,200	each	\$6.45	\$7,740.00	\$6.28	\$7,536.00	\$5.61	\$6,732.00	\$5.49	\$6,588.00
	Size: Medium	1,200	each	\$6.45	\$7,740.00	\$6.28	\$7,536.00	\$5.61		\$5.49	\$6,588.00
	Size: Large	1,200	each	\$6.45	\$7,740.00	\$6.28	\$7,536.00	\$5.61		\$5.49	\$6,588.00
	Size: X-Large	1,200	each	\$6.45	\$7,740.00	\$6.28	\$7,536.00	\$5.61		\$5.49	\$6,588.00
				\$6.45	•	\$6.28	\$7,536.00 \$7,536.00	\$5.61		\$5.49	\$6,588.00
	Size: 2X-Large	1,200	each		\$7,740.00						
	Size: 3X-Large	1,200	each	\$6.45	\$7,740.00	\$6.28	\$7,536.00	\$5.61		\$5.79	\$6,948.00
	Size: 4X-Large	600	each	\$6.45	\$3,870.00	\$6.28	\$3,768.00	\$6.20		\$5.79	\$3,474.00
	Size: 5X-Large	600	each	\$6.45	\$3,870.00	\$6.28	\$3,768.00	\$6.20		\$6.10	\$3,660.00
	Size: 6X-Large	600	each	\$6.45	\$3,870.00	\$6.28	\$3,768.00	\$6.77	\$4,062.00	\$6.10	\$3,660.00
	Size: 7X-Large	100	each	\$6.45	\$645.00	\$8.75	\$875.00	\$7.35	\$735.00	\$6.35	\$635.00
	Size: 8X-Large	100	each	\$6.45	\$645.00	\$8.75	\$875.00	\$7.43	\$743.00	\$6.35	\$635.00
	Size: 9X-Large	600	each	\$6.45	\$3,870.00	\$8.75	\$5,250.00	\$8.06	\$4,836.00	\$7.50	\$4,500.00
	Size: 10X-Large	100	each	\$6.45	\$645.00	\$8.75	\$875.00	\$8.11	\$811.00	\$7.50	\$750.00
						st must purchase in increments of 6 each					
	Specify Manufacturer, Brand and Product Number Being Proposed			Acme # 792FC		** We are bidding Unisex Cut BBC# TGWT (Green /White)		ICS-CP005		UMI-#63-10	
					4.52.077.00	TRWT (Black & White)	A		4.5 0.040.00		*** • • • • • • • • • • • • • • • • • •
	TOTAL				\$63,855.00		\$64,395.00		\$59,019.00		\$57,202.00
	Grand Total Section 1:				\$541,860.00		\$573,916.00		\$584,102.00		\$506,766.00
							vendor extension \$520,230.00		vendor extension \$584,102.00		vendor extension \$506,766.00
	Detention Clothing (Juvenile Services)										
.1	Unisex Cut - Detention Clothing Shirts (no stencilin	g required)									
	Size: Small	10	each	\$4.95	\$49.50	\$5.10	\$51.00	\$5.59	\$55.90	\$3.82	\$38.20
	Size: Medium	20	each	\$4.95	\$99.00	\$5.10	\$102.00	\$5.59	\$111.80	\$3.82	\$76.40
	Size: Large	100	each	\$4.95	\$495.00	\$5.10	\$510.00	\$5.59	\$559.00	\$3.82	\$382.00
	Size: X-Large	100	each	\$4.95	\$495.00	\$5.10	\$510.00	\$5.59	\$559.00	\$3.82	\$382.00
	Size: 2X-Large	10	each	\$4.95	\$49.50	\$5.10	\$51.00	\$5.59	\$55.90	\$3.82	\$38.20
	Size: 3X-Large	5	each	\$4.95	\$24.75	\$5.10	\$25.50	\$5.59		\$4.20	\$21.00
	Size: 4X-Large	5	each	\$4.95	\$24.75	\$5.10		\$6.16		\$4.20	\$21.00
	Size: 5X-Large	5		\$4.95	\$24.75	\$5.10		\$6.74		\$4.62	\$23.10
	_										
	Size: 6X-Large	5	each		\$24.75	\$5.10		\$6.74		\$4.62	\$23.10
	Size: 7X-Large	5	each		\$24.75	\$ \$5.10		\$7.32		\$5.08	\$25.40
	Size: 8X-Large	5	each		\$24.75	\$5.10		\$7.32		\$5.08	\$25.40
	Size: 9X-Large	5	each		\$24.75	\$ \$5.10		\$7.90		\$5.59	\$27.95
	Size: 10X-Large	5	each	\$4.95	\$24.75	\$8.01	\$40.05	\$7.90	\$39.50	\$5.59	\$27.95
						* must purchase in increments of 6 each					
				i				l		l	

TABULATION SHEET 2015-015-6469 Annual Contract for Inmate Clothing			VENDOR #1 Acme Supply Co. LTD		VENDOR #2 Bob Barker Company, Inc.		VENDOR # 3 ICS Jail Supplies, Inc.		VENDOR # 4 Uniforms Manufacturing, Inc.	
Opening Date: January 12, 2015			10 Cedar Swamp Rd. Glen Cove, NY 11542		134 N. Main St. Fuquay Varina, NC 27526		PO Box 21056 Waco, Texas 76702		PO Box 12716 Scottsdale, AZ 85267	
Initial Contract Period: February 28, 2015 thru February with (3) one year extension options	y 27, 2016		Zaheer Sheik bn@acmesupply.us		Nenna Mann nennamann@bobbarker.co	m	JM Bogan III bids@icswaco.com		Jacq Stamps jacq@umidirect.com	
Buyer Debra Morris 214-653-7933			800-567-8025 800-567-8026 fax		800-334-9880 800-322-7537 fax		800-524-5427 254-751-0299 fax		480-368-9316 480-368-8556 fax	
Specify other colors (other than Khaki) that are available at the same price:			Khaki, Green, Navy, Orange, R Yellow, White, Brown	ded,	Orange, White , Red, Postman E Navy, Green, Chocolate Brown, Yellow, Lime Green, Black/Whit Green/White,Orange/White, Blue	Khaki, Medium Gray, e,	all Colors		Navy, White, Charcoal, Dk. Bro	own
Specify Manufacturer, Brand and Product Number Being Proposed			Acme # 788K1T		** We are bidding Unisex Cut BBC #TKS		ICS-CS005		UMI-#52-3	
TOTAL				\$1,386.00		\$1,442.55		\$1,619.95		\$1,111.70
Unisex Cut - Detention Clothing Pants (no stencil required)	ing									
Size: Small	10	each	\$5.95	\$59.50	\$6.53	\$65.30	\$5.61	\$56.10	\$4.90	\$49.00
Size: Medium	20	each	\$5.95	\$119.00	\$6.53	\$130.60	\$5.61	\$112.20	\$4.90	\$98.00
Size: Large	100	each	\$5.95	\$595.00	\$6.53	\$653.00	\$5.61	\$561.00	\$4.90	\$490.00
Size: X-Large	100	each	\$5.95	\$595.00	\$6.53	\$653.00	\$5.61	\$561.00	\$4.90	\$490.00
Size: 2X-Large	10	each	\$5.95	\$59.50	\$6.53	\$65.30	\$5.61	\$56.10	\$4.90	\$49.00
Size: 3X-Large	5	each	\$5.95	\$29.75	\$6.53	\$32.65	\$5.61	\$28.05	\$4.90	\$24.50
Size: 4X-Large	5	each	\$5.95	\$29.75	\$6.53	\$32.65	\$6.20	\$31.00	\$4.90	\$24.50
Size: 5X-Large	5	each	\$5.95	\$29.75	\$6.53	\$32.65	\$6.20	\$31.00	\$5.25	\$26.25
Size: 6X-Large	5	each	\$5.95	\$29.75	\$6.53	\$32.65	\$6.77	\$33.85	\$5.25	\$26.25
Size: 7X-Large	5	each	\$5.95	\$29.75	* \$9.65	\$48.25	\$7.35	\$36.75	\$6.52	\$32.60
Size: 8X-Large	5	each	\$5.95	\$29.75	\$9.65	\$48.25	\$7.43	\$37.15	\$6.52	\$32.60
Size: 9X-Large	5	each	\$5.95	\$29.75	* \$9.65	\$48.25	\$8.06	\$40.30	\$7.17	\$35.85
Size: 10X-Large	5	each	\$5.95	\$29.75	\$9.65	\$48.25	\$8.11	\$40.55	\$7.17	\$35.85
Size. 1011 Earge	Ü		77.7	7-227	* must purchase in increments of 6 each		*****	4 10.00		400.00
Specify other colors (other than Khaki) that are available at the same price:			Khaki, Green, Brown, Navy, Orange, Yellow, White		Orange, White, Red, Postman Blue, Hot PinK, Wine, Navy, Green, Chocolate Brown, Khaki, Medium Gray, Yellow, Lime Green, Black/White, Green/White,Orange/White, Blue/White, Red/White		all Colors		Navy, White, Charcoal, Dk. Brown	
Specify Manufacturer, Brand and Product Number Being Proposed			Acme # 789KH		** We are bidding Unisex Cut BBC #TKT -		ICS-CP005		UMI-64-10	
TOTAL				\$1,666.00		\$1,890.80		\$1,625.05		\$1,414.40
Grand Total Section 2:				\$3,052.00		\$3,333.35		\$3,245.00		\$2,526.10
Inmate Coverall, Black & White Stripes includes	stenciling									
Size: Small	100	each	No Bid		** \$11.37	\$1,137.00	\$16.92	\$1,692.00	\$11.94	\$1,194.00
Size: Medium	100	each	No Bid		** 11.64	\$1,164.00	\$16.92	\$1,692.00	\$11.94	\$1,194.00
Size: Large	100	each	No Bid		** 11.91	\$1,191.00	\$16.92	\$1,692.00	\$11.94	\$1,194.00
Size: X-Large	100	each	No Bid		** 12.57	\$1,257.00	\$16.92	\$1,692.00	\$11.94	\$1,194.00
Size: 2X-Large	100	each	No Bid		** 13.22	\$1,322.00	\$16.92	\$1,692.00	\$11.94	\$1,194.00
Size: 3X-Large	100	each	No Bid		** 13.53	\$1,353.00	16.92	\$1,692.00	11.94	\$1,194.00
					Page 4 of 6					

TABULATION SHEET			VENDOR #1	1	VENDOR #2		VENDOR # 3		VENDOR # 4		
2015-015-6469 Annual Contract for Inmate Cloth	ina		Acme Supply Co. LTD		Bob Barker Company, Inc.		ICS Jail Supplies, Inc.		Uniforms Manufacturing, Inc.		
2013 013 0407 Fillian Conduct for himae Crons	g		10 Cedar Swamp Rd.		134 N. Main St.		PO Box 21056		PO Box 12716		
Opening Date: January 12, 2015			Glen Cove, NY 11542		Fuquay Varina, NC 27526		Waco, Texas 76702		Scottsdale, AZ 85267		
			Zaheer Sheik		Nenna Mann		JM Bogan III		Jacq Stamps		
Initial Contract Period: February 28, 2015 thru F	ebruary 27, 2016		bn@acmesupply.us		nennamann@bobbarker.co	nm	bids@icswaco.com		iaca@umidirect.com		
with (3) one year extension options			Бишастоварру. ав		normama m@bobbarnor.or	J	<u> </u>		<u>jacqia arriian oot.oom</u>		
D Dalam Mannia 214 652 7022			800-567-8025 800-567-8026 fax		800-334-9880 800-322-7537 fax		800-524-5427 254-751-0299 fax		480-368-9316 480-368-8556 fax		
Buyer Debra Morris 214-653-7933			800-367-8026 Tax		800-322-7337 Tax		254-751-0299 Tax		480-308-8330 Tax		
Size: 4X-Large	100	each	No Bid		** 14.22	\$1,422.00	17.79	\$1,779.00	11.94	\$1,194.00	
Size: 5X-Large	100	each	No Bid		** 14.74	\$1,474.00	18.65	\$1,865.00	13.00	\$1,300.00	
Size: 6X-Large	100	each	No Bid		** 15.62	\$1,562.00	19.54	\$1,954.00	13.00	\$1,300.00	
					** must purchase increments of	6 each. Minimum order			·		
					of 144 pieces						
Specify Manufacturer, Brand and Product Nur	nber				* we are bidding Unisex cut BE	BC#	ICS-C030		UMI-#10-850V		
Being Proposed					JBWVJSLNCS		has Collar with White Thread				
	TOTAL			60.00		\$11,882.00		\$15,750.00		\$10,958.00	
			9	00.00		\$11,002.00		\$15,750.00			
Awa	ard Total									\$520,250.10	
T (1) 4 H N 1/10					N.		27				
Is this an All or None bid?	:::	the	No		No		No		No		
The term "all or none" is construed to mean a concitems on which quotations are offered and the bidd											
nems on which quotations are offered and the order	er decimes to decept to	award on marvidua nems.									
Specify Delivery Timeframe after Receipt of Purch	nase Order from Dalla	as County.	as requested		5 30- days		3 30- days		60- days		
Specify Benvery Timerianne arter Receipt of Fairer	nase order from Band	as county.	us requesteu				2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2				
Are the required samples as requested in Section 1	8 included with your	bid proposal for inmate	Yes		Yes		Yes		Yes		
striped and detention clothing garments?											
Is the required reference information included with	you hid proposal?		Yes		Yes		Yes		Yes		
is the required reference information included with	you old proposar:				163				i cs		
Would you firm be willing to accept a secondary a			Yes		Yes		Yes		No		
absence of the primary vendor? Price would be the	same as those bid on	the bid proposal.									
Specify the name, telephone number and e-mail ad	dress (if one) of the a	account representative who	Zaheer Sheik, 800-567-8025		Kelly Flaviani 800-334-9880		Sonya Sterling 800-524-5427	x109 bids@icswaco.com	Jacq Stamps 480-368-9316 x115 jacq@umidirect.com		
will be handling this account:	, ,	1	bn@acmesupply.us		kellyflaviani@bobbarker.com					J 1	
Does your firm/company have the required insurar	ce coverage stated un	nder SECTION 3 -	Yes		Yes		Yes		Yes		
INSURANCE REQUIREMENTS?											
If, No will your firm be able to obtained the requir	ed coverage within ter	en (10) days upon	Yes		Yes				Yes		
notification of contract award?											
Willing to accept future orders and solicitation via	e-mail		Yes		Yes		Yes		Yes		
Consider Production Classification Constitution Constitut	.117.255	on at the area to at the second	V		N.		v.		v.		
Cooperative Purchasing: Should other Governmen			Yes		No		Yes		Yes		
would you, the awarded Contractor agree that all to would apply to that entity?	erms, conditions, spec	cirications, and pricing									
Specify any additional comments/cost/etc. include	l with your hid propo	osal if applicable:			None				N/A		
Specify any additional comments/cost/cic. include	Jour old propo	oui, ii upplicubic.			1.0110						
Specify Prompt/Early Payment Discount Terms (if	**										
If no prompt/early payment discount is offered, enter 0 in the			0% / 30 days		0.00		0%-30days		0%-30days		
% space. Payment terms with no discount are 30 d	ays, upon										
Information on Provision of Health Insurance	Overege										
anormation on Fronsion of Health insurance of	Joverage										
a) Does your company provide health insurance company provide	overage to its employe	rees?	Yes		Yes		No		Yes		
- · · · · · · · · · · · · · · · · · · ·			·	•			•		•		
					Page 5 of 6						

TABULATION SHEET	VENDOR #1	VENDOR #2	VENDOR # 3	VENDOR # 4
2015-015-6469 Annual Contract for Inmate Clothing	Acme Supply Co. LTD	Bob Barker Company, Inc.	ICS Jail Supplies, Inc.	Uniforms Manufacturing, Inc.
Opening Date: January 12, 2015	10 Cedar Swamp Rd. Glen Cove, NY 11542			PO Box 12716 Scottsdale, AZ 85267
	Zaheer Sheik	Nenna Mann	JM Bogan III	Jacq Stamps
Initial Contract Period: February 28, 2015 thru February 27, 2016 with (3) one year extension options	bn@acmesupply.us	nennamann@bobbarker.com	bids@icswaco.com	jacq@umidirect.com
Buyer Debra Morris 214-653-7933	800-567-8025 800-567-8026 fax			480-368-9316 480-368-8556 fax
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of:				
75% for employee only coverage?	No	Yes	No	Yes
50% for family coverage?		Yes	No	Yes
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)	No	Yes	No	No
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?	No	N/A	No	No - UMI is Primary/Only contractor